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Question Number : 1 Question Id : 70819116684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i x

The period of oscillation of a simple pendulum is T =27 \/_ . Measured value of ‘L' is 1.0 m

from meter scale having a minimum division of 1 mm and time of one complete oscillation is
1.95 s measured from stopwatch of 0.01 s resolution. The percentage error in the determination
of ‘g" will be :

Options :
70819155201, 1-33%

70819155202, 1-03%

e
70819155203, 1-13%

.
70819155204, 1-30%

Question Number : 1 Question Id : 70819116684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819155201, 1-33%

70819155202, 1-03%

e
70819155203, 1-13%

.
70819155204, 1-30%

Question Number : 2 Question Id : 70819116685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particlc- is pmjected with velf}cit}f g along r-axis. A damping force is acting on the particle
which is proportional to the square of the distance from the origin i.e. ma= axr2. The
distance at which the par’ricle stops :

21:'{:;
3a
70819155205.

1
31-‘{2} 2
2o
70819155206.

33% _3
2w
70819155207.

Options :

P | =




1

205 3
3w )
70819155208.

Question Number : 2 Question Id : 70819116685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1
ZI?{% 2
3o
70819155205.

1

3I_1{1; 2

2o
70819155206.

33?& _3
2o
70819155207.

213{} 3
3o )
70819155208.

Question Number : 3 Question Id : 70819116686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A circular hole of radius [—J is cut out of a circular disc of radius ‘a’ as shown in figure. The

centroid of the remaining circular portion with respect to point ‘O’ will be :

A Y-axis

Options :

70819155209, ©

5

—a
70819155210, ©

—a
70819155211.

10

i

70819155212, 11

Question Number : 3 Question Id : 70819116686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819155209.

70819155210.

70819155211.

70819155212, 11

Question Number : 4 Question Id : 70819116687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A body weighs 49 N on a spring balance at the north pole. What will be its weight recorded
on the same weighing machine, if it is shifted to the equator ?

GM .
[Use ¢ = Rg = 9.8 ms 2 and radius of earth, R = 6400 km.]

Options :

70819155213. LN

70819155214. o

70819155215. 4583 N

70819155216. IR

Question Number : 4 Question Id : 70819116687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819155213, 017 N

70819155214. e

70819155215. 4883 N



70819155216. 95 N

Question Number : 5 Question Id : 70819116688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f one mole of an ideal gas at (P}, V,) is allowed to expand reversibly and isothermally
(A to B) its pressure is reduced to one-half of the original pressure (see figure). This is followed
by a constant volume cooling till its pressure is reduced to one-fourth of the initial value
(B — C). Then it is restored to its initial state by a reversible adiabatic compression (C to A).
The net workdone by the gas is equal to :

Options :

RT | In2
[ 2(y 11]
70819155217.

RT

2(y—1)
70819155218.

70819155219, RTIn 2

70819155220. 0



Question Number : 5 Question Id : 70819116688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

RT | In2 :
2(y-1)
70819155217.

RT
2(y—1)

70819155218.

70819155219, RTIn 2

70819155220. 0

Question Number : 6 Question Id : 70819116689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



On the basis of kinetic theory of gases, the gas exerts pressure because its molecules :
Options :

70819155221 continuously lose their energy tll it reaches wall.

70819155222 continuously stick to the walls of container.

are attracted by the walls of container.
70819155223. .

70819155224 suffer change in momentum when impinge on the walls of container.

Question Number : 6 Question Id : 70819116689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819116690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



In the given figure, a body of mass M is held between two massless springs, on a smooth
inclined plane. The free ends of the springs are attached to firm supports. If each spring has
spring constant k, the frequency of oscillation of given body is :

Options :

1 k

E’l‘ Mg sina

70819155225.

1 2k

2 Mg sina
70819155226.

1 [k

2o Y M

70819155227.

1 | k
21 .VI 2M
70819155228.

Question Number : 7 Question Id : 70819116690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
1 k
2 o
70819155225, 27 ¥ Mg sina
1 2k
27\ Mg sino
70819155226.
1 [k
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70819155227, =7 VM
1 [k
2w \2M
70819155228.

Question Number : 8 Question Id

Correct Marks : 4 Wrong Marks :

: 70819116691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
1



When a particle executes SHM, the nature of graphical representation of velocity as a function
of displacement is :

Options :

70819155229, Ccircular

elliptical
70819155230.

parabolic
70819155231.

st‘raight line
70819155232.

Question Number : 8 Question Id : 70819116691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

{ 3
70819155229, 3SR

70819155230. '.ﬂqtérﬂt{

o
70819155231, -

]
70819155232, LAl

Question Number : 9 Question Id : 70819116692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Which of the f(}]lf}‘wit‘lg equations represents a travc-l[ing wave 7

Options :

— X " l
70819155233, ¥/ = Aercos(mt —0)

' 2

D Tt B
70819155234, Y= ¢ (v1+0)

= Asi Ty
70819155235, ¥ = Asin(15x — 21}
70819155236, Y= AASINX coswl

Question Number : 9 Question Id : 70819116692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(Bl 54 udlszer wendl ada sl 9 9
Options :

— X . i
70819155233, V= “hercos(wl — )

-

i 1_-"'_ ;
70819155234, Y= S€ ~ (vi+0)

— 3 d )
70819155235, ¥ = Asin(15x —21)

70819155236, V= AASINX coswl

Question Number : 10 Question Id : 70819116693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Two electrons each are fixed at a distance “2d". A third charge proton placed at the midpoint
is displaced slightly by a distance x (x << d) perpendicular to the line joining the two fixed
charges. Proton will execute simple harmonic motion having angular frequency :
(m = mass of charged particle)

Options :

1
( qz ]2
2 2
ey md
70819155237.
o
2:}2 2
'TI'E{] md?'
70819155238.

1
TEQ md> |2
2:}2
70819155239.

1

27meg md> |2
qZ
70819155240.

Question Number : 10 Question Id : 70819116693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 70819116694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Figure shows a circuit that contains four identical resistors with resistance R=2.0 (1, two
identical inductors with inductance L=2.0 mH and an ideal battery with emf E=9 V. The
current 1" just after the switch 'S’ is closed will be :

i
2 R
+ T R § L
1
E=9 V] .
R
R
Options :
70819155241, 222 A
70819155242, >0 A
70819155243, 237 A

70819155244, 9 A

Question Number : 11 Question Id : 70819116694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819155241, 222 A

70819155242, -0 A

70819155243, 537 A

70819155244, 9 A

Question Number : 12 Question Id : 70819116695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A soft ferromagnetic material is placed in an external magnetic field. The magnetic
domains :

Options :
70819155245 increase in size but no change in orientation.

70819155246, decrease in size and changes orientation.



70819155247, May increase or decrease in size and change its orientation.

70819155248, have no relation with external magnetic field.

Question Number : 12 Question Id : 70819116695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

20819155245, SELL 8 B Wy astl (Eslfadl (2igeau) ezl «l.

e B ""-\ L =
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Question Number : 13 Question Id : 70819116696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I with List - IL
List -1 List - II
(a) Source of microwave frequency (i) Radioactive decay of nucleus

(b) Source of infrared frequency (i) Magnetron

(c) Source of Gamma Rays (iii) Inmer shell electrons
(d) Source of X-rays (iv) Vibration of atoms and molecules
(v) LASER

(vi) RC circuit
Choose the correct answer from the options given below :

Options :
70819155249, @F(Vi) (B)-(v), ()-(1), (d)-(iv)

70819155250. (a)-(vi), (b)-(iv), (c)-(1), (d)-(v)
70819155251, (@F(i), (B)-(iv), (c)-(1), (d)-(iii)

70819155252, (@)-(ii), (b)-(iv), (¢)-(vi), (d)-(iii)

Question Number : 13 Question Id : 70819116696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819155249, @F(Vi) (B)-(v), ()-(1), (d)-(iv)

70819155250. (a)-(vi), (b)-(iv), (c)-(1), (d)-(v)
70819155251, (@)~ (B)(iv), (c)-(), (d)-(iii)

70819155252, (@)-(ii), (b)-(iv), (¢)-(vi), (d)-(iii)

Question Number : 14 Question Id : 70819116697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the source of light used in a Young's double slit experiment is changed from red to violet :
Options :

70819155253, he fringes will become brighter.

70819155254, conseculive frmge lines will come closer.



70819155255, the intensity of minima will increase.

70819155256, the central bright fringe will become a dark fringe.

Question Number : 14 Question Id : 70819116697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ol 23t o= (Rl UM qurLal usial Geam did gl ol ederdl szami 204 dl e
Options :

- .
2081915553, AL AHR MsiR1t ULl

20819155254, S5 UAUSPAL A5 2l

20810155255, AelAlL dla qaL

20819155056, NEARY UsifEia st 2siEia o 9.

Question Number : 15 Question Id : 70819116698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An X-ray tube is operated at 1.24 million volt. The shortest wavelength of the produced
photon will be :

Options :

1
70819155257, 107" nm

2
70819155258, 10 -~ nm

3
70819155259, 107~ nm



4
70819155260, 10 ° nm

Question Number : 15 Question Id : 70819116698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

25 Xoray ¢4 1.24 89 Alv dlee Gz seid 8. Geuddd siiadl dell 2l adodond @l
Options :

1
70819155257, 107 nm

a
70819155258, 10 -~ nm

3
70819155259, 107~ nm

4
70819155260, 10~ " nm

Question Number : 16 Question Id : 70819116699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The de Bmglir_- wavc-lr_-ngﬂ\ of a proton and u-particle are r_-qual. The ratio of their velocities
15 :

Options :

70819155261, +:1

4:2
70819155262.

70819155263, 4193



70819155264, 14

Question Number : 16 Question Id : 70819116699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ui 2 501l S-codl ddaidond w9, dusi Qol-l 26l 23,

Options :
70819155261, +:1

70819155262, ++ 2

70819155263, +:3

70819155264, 14

Question Number : 17 Question Id : 70819116700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr atom model, in which of the following transitions will the frequency be
maximum ?

Options :
70819155265, =2 to n=1

— ="j.
70819155266, M =2 ton=2

n=4 ton=3
70819155267.

70819155268, =2 o n=4



Question Number : 17 Question Id : 70819116700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ol YRHLE] HIdA 2, Al 2l 58 dsild svan 2ugla wedu ¢l )
Options :

n=2%n=1
70819155265

—3 9 n=2
70819155266, n

70819155267, N=4 4l n=3

70819155268, N=2 dn=4

Question Number : 18 Question Id : 70819116701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Zener breakdown occurs in a p — n junction having p and n both :
Options :
70819155269 lightly doped and have narrow depletion layer.

70819155270. Iight[}-' d(}de and have wide deplr.-fion Ia}-'c-r.

heavily df}pi}d and have narrow depletﬁon laver.
70819155271. i g

heavily doped and have wide depletion layer.
70819155272. " =



Question Number : 18 Question Id : 70819116701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 19 Question Id : 70819116702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : PN junction diodes can be used to function as transistor, simply by
connecting two diodes, back to back, which acts as the base terminal.
Statement 11 :  In the study of transistor, the amplification factor (§ indicates ratio of the

collector current to the base current.
In the light of the above statements, choose the correct answer from the options given below.
Options :
70819155273, both Statement I and Statement II are true

70819155274, Both Statement | and Statement 1l are false

70819155275, Statement 1 is true but Statement 11 is false



70819155276 Statement 1 is false but Statement Il is true

Question Number : 19 Question Id : 70819116702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

20819155273, it (A T 24 [eu T i 8.

20819155274, A (S 1 24 [Seun 11 wicl 9.

Ml Y@ e ©.
20819155275, At T neL FAA g

o a ;- -
70819155276, At 1 G HeL R 1T 4 ©.

Question Number : 20 Question Id : 70819116703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A

>o0—o0 C
B

The logic circuit shown above is equivalent to :



Options :

|
1

70819155277. B )

Ao—>0

70819155278. B

Y

Ao—>0

Bo

T

70819155279.

= >
)

70819155280.

Question Number : 20 Question Id : 70819116703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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B

Guz saldd dims-uRua ol A Wdge ©.
Options :

A o——m

70819155277. B )

Y

Ao—>0—

70819155278. B

Y
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Two solids A and B of mass 1 kg and 2 kg respectively are moving with equal linear

momentum. The ratio of their kinetic energies (K.E.), : (K.E.); will be T so the value of

A will be
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Question Number : 21 Question Id : 70819116704 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819116705 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform metallic wire is elongated by 0.04 m when subjected to a linear force F. The
elongation, if its length and diameter is doubled and subjected to the same force will be
cIm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 22 Question Id : 70819116705 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819116706 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform thin bar of mass 6 kg and length 2.4 meter is bent to make an equilateral hexagon.

The moment of inertia about an axis passing through the centre of mass and perpendicular
to the plane of hexagon is %10~ kg m?,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819116706 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819116707 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The root mean square speed of molecules of a given mass of a gas at 27°C and 1 atmosphere
pressure is 200 ms !, The root mean square speed of molecules of the gas at 127°C and

. . K :
2 atmosphere pressure is — ms 1. The value of x will be

3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819116707 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C Al 24 T ALzl GeSl Al Ay M1 ML B0 SRl 2Rl #2311 «bid @eiya
(r.m.s.) 54 200 ms 18, 127°C dluHlA 21 2 Al el SA16L 2ddl dy 1 22l 122l 4l

4o AU % ms 19 xduet el
3

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116708 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Two cars are approaching each other at an equal speed of 7.2 km/hr. When they see each

other, both blow horns having frequency of 676 Hz. The beat frequency heard by each driver
will be Hz. [Velocity of sound in air is 340 m/s.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116708 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o +I 25l Bisolled dzs 7.2 km/hr Al 2w gl ol 53 9. dil sd2 2Useilsan sddA oidl 676 Hz 209 [rae]
€ld 42U B, ol gIfazl deoudl 2is-l 2ugld Hz 9. [#alA-l ¢=mi 491 340 m/s 9.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 26 Question Id : 70819116709 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A point charge of +12 uC is at a distance 6 cm vertically above the centre of a square of side

12 em as shown in f i%urr_-. The magnitude of the electric flux through the square will be
- x 103 Nm~/C.

g

%
)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 26 Question Id : 70819116709 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A5l B2l WS 12 em Al Cllsy dxEdl 215 AiRuHAl BRidot G4z 6 cm 2id2 +12 uC Al 215
[Gigadt <llsvouz wéa o, dizuuigl wuir adl Bedsasud yey % 10° Nm2/ C 2.

+q

{L&\

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819116710 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A cylindrical wire of radius 0.5 mm and conductivity 5x 107 S/m is subjected to an electric
field of 10 mV/m. The expected value of current in the wire will be 1 mA. The value of x
1S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 27 Question Id : 70819116710 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0.5 mm (el 9218di 24 5% 107 S/m sredl dlesdl Y180l 245 sl dizd @uddl 10 mV/m
o AL [AYAFHAUL E1AA 52U 20 8. dARML Aol Melle] 245 Y vdr mA 9. v 4
.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 28 Question Id : 70819116711 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A series LCR circuit is designed to resonate at an angular frequency w,=10° rad/s. The
circuit draws 16 W power from 120 V source at resonance. The value of resistance ‘R’ in the
circuit is Q.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819116711 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

245 46l LCR WRMA wy=10° rad/s stedl 516l 2uglat Wi 24441% 2q™d d 2ld d4ir szt 2ud
9. 2UE A 4RUA 120 Vel Gprrisl 16 Wosidesa wiel o, wRvsml 29304 R o wet
o 0 9.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819116712 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An olc-ctroimgnc-fic wave of [ requency 3 GHz enters a dielectric medium of relative electric
permittivity 2.25 from vacuum. The wavelength of this wave in that medium will be
%102 cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819116712 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 GHz 2udlet axiad 215 [Agdziosls dion getmsiadl qaumelsi 2.25 seedl wwHdléddlll (wrlends)
BNl DIl HELHHL 1A A O, 21 HELHAL aZal aadons %10~ 2 cm @3,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 30 Question Id : 70819116713 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A signal of 0.1 kW is transmitted in a cable. The attenuation of cable is —5 dB per km and
cable length is 20 km. The power received at receiver is 10~ * W. The value of x is

[Gain in dB=10 Iogm[ ]

P, )
Fi )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819116713 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2is So1d (AR) Hi0.1 kW i 205 [odad uaidld sl 208 8. 5ol dqs2¢L (attenuation) 5 dB
uld Bl 8 2 seadl dend 20 km 9. ez 91 20010 4odl sl 10T W 9. v o Yet

[dB i ales =10 Ingm[%]]

I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Chemistry Section A

Section Id : 708191654
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191934
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819116714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
According to Bohr's atomic theory :

2

T ; ; Z
(A) Kinetic energy of electron is = —.

n
(B) The product of velocity (v) of electron and principal quantum number (n),
‘v’ 72,
3
(C) Frequency of revolution of electron in an orbit is = s
n

3

(D) Coulombic force of attraction on the electron is = —
n

Choose the most appropriate answer from the options given below :

Options :



70819155291, (A) (€) and (D) only

70819155292, () and (D) only

70819155293, (€) only

70819155294, (44 only

Question Number : 31 Question Id : 70819116714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

obR Al YRHLOHlY AU MM ¢

2
(A) Basil ARE Ged = £
n

(B)  ddslddl oL (v) AL 2l Yoo seliweH 215 (n) Al 96U (product) ‘v’ o« Z2

B 3
(C) &Ml Desgie Al WRenel (revolution) <l 2uglx o ZT
n

"l
(D) Ddsgl Guz awidl 2usMeL-i gdlos vl « 2_4
n
A1 suidd [Esedimisl Al 49 olaciudl sraied s sl
Options :

554 (A), (C) 244
70819155291, ° (&), ©) )

55 (A) 2
70819155292, (&) ®)



¥ (O)
70819155293.

55 (A)
70819155294.

Question Number : 32 Question Id : 70819116715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct shape and I 11 bond angles respectively in 15 ion are :

Options :

70819155295, Linear; 180°

3 3 . : 5 '1 O 0
70819155296, Distorted trigonal planar; 135" and 90

70819155297 1-shaped; 180° and 90°

Trigonal planar; 120°
70819155298.

Question Number : 32 Question Id : 70819116715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I Uil ARl 2USR 2 T-T- T o8 vieuil »igs4 20dl
Options :

oile; 180°
70819155205, {“{14; 180

Y a e '] " )
20810155206, (et AHASIE(lH Anadly; 1357 21 90



i =l - . - )
70819155297. T-2As502-L; 1807 244 90

E ATe . W
20819155208, lsIelA Aadl; 120

Question Number : 33 Question Id : 70819116716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Most suitable salt which can be used for efficient clotting of blood will be :
Options :
NaHCO
70819155299, 3

70819155300, M8HCO3)2

70819155301, L eC13

70819155302, 104

Question Number : 33 Question Id : 70819116716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ALlAL 20518 srell M2 25125 (efficient) S HRAL Gl Aol 48 Yao1d (41oy) 23l ?
Options :
NaHCO,
70819155299. ~
M cO
70819155300, 8HEOs)2

70819155301, FeCl3



70819155302, 1601

Question Number : 34 Question Id : 70819116717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct set from the following in which both pairs are in correct order of melting point
is :

Options :
70819155303, L1 > LiF ; MgO > NaCl

70819155304, Lif > LiCl; MgO > NaCl

70819155305, LC1 > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819155306.

Question Number : 34 Question Id : 70819116717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Al e il A UH2UY (set) % eyul ol e 2l (%QQL} e rl[‘\;tjrlll Rl 530 &H‘H 3 W@LL@L_
Options :
70819155303, L1 > LiF ; MgO > NaCl

70819155304, LiF > LiCl; MgO > NaCl

70819155305, <l > LiF ; NaCl > MgO



LiF > Li(1 ; NaCl > MgO
70819155306.

Question Number : 35 Question Id : 70819116718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL

List - 1 List - 11
(Metal) (Ores)
(a) Aluminium (i) Siderite
(b) Iron (ii) Calamine
(c) Copper (ii) Kaolinite
(d) Zinc (iv) Malachite

Choose the correct answer from the options given below :
Options :
70819155307, (@)-(1), (b)-(ii), ()-(iii), (d)-(iv)

70819155308, (@) (), (b)-(iii), (c)-(ii), (d)-(i)

70819155309, (@-(i), (b)-(iv), (c)-(1), (d)-(iii)

70819155310, (@) (L), (b)-(i), (¢)-(iv), (d)-(ii)

Question Number : 35 Question Id : 70819116718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



el - 1wl - A L

wedl - 1 wedl - 11

(dr=) (a4z51)
(a)  Bleyalu 1) [ede
(b) =i (dlvis) (ii) SIS
(c) st4r (divy) (i)  s2ldluge
(d) (= (iv) Haside
{12 2Aual [Esediizl Azl Gz uais sl
Options :

70819155307, (@)-(1)., (b)-(ii), (c)-(iii), (d)-(iv)
70819155308, @), (b)-(iii), (c)-(ii), (d)-(i)
70819155309, (@)-(i), (b)-(v), (c)-(1), (d)-(iii)

70819155310, @)-(i), (b)-(1), (c)-(iv), (d)-(ii)

Question Number : 36 Question Id : 70819116719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Hydrogen is the most abundant element in the Universe, but it is not the
most abundant gas in the troposphere.

Reason R : H}Tdmgen is the ]ightest element.

In the light of the above statements, choose the correct answer from the options given
below :

Options :



70819155311, PBoth A and R are true and R is the correct explanation of A
70819155312, Both A and R are true but R is NOT the correct explanation of A

70819155313, ‘v 18 true but R is false

70819155314, A 15 false but R is true

Question Number : 36 Question Id : 70819116719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A2 &4 [Aeu 2A0aL 9 ;215 A 52U A 94 dold 533 O ofledd SRELR o4 duld 539 9.
sad A SglrA  cionl Wiell e uyz dedl . weL L gl el qar wyz ay el
SRR @lggler w Hiell gasl ded 9,
GuzAl [FEainl Aselxi, 12 2aan Esenisl 2l Gz vube s
Options :
20810155311, LA PR AL S A R 2 A Al el syl 9.

iy = - ™ 3 = 5
20810155312, LA Pt R MRl © weL R 2L A -l wuell aisredl el

:" o 3 = om T,
70819155313, A W4 O HELR Mg ©.

70819155314, A Mg O AR WY ©.

Question Number : 37 Question Id : 70819116720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I with List - IL

List - 1 List - 11
(Salt) (Flame colour wavelength)
(a) LiCl (1) 455.5 nm
(b) NaCl (i) 670.8 nm
(c) RbCl (i) 780.0 nm
(d) GsCl (iv) 589.2 nm

Choose the correct answer from the options given below :

Options :
70819155315, (@F(v), (b)-(ii), (c)-(iii), (d)-(1)

70819155316, (@)-(i1), (b)-(iv), (c)-(iii), (d)-(1)
70819155317, @F0). (B)-(v), (c)-(ii), (d)-(iii)

70819155318, @)-(D), (D)D), (©)-(iv), (d)-(iii)

Question Number : 37 Question Id : 70819116720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wadl - 1 syl - 1A sl

wedl - 1 el - 11

(212) (sid 331 dZaEeE)
(a) LiCl (i) 455.5 nm
(b) NaCl (i) 670.8 nm
(c) RbCl (iii) 780.0 nm
(d) CsCl (iv) 589.2 nm

A2 240de [Esedimisdl 2 saet s s3.



Options :
70819155315, @), (b)-(ii), (c)-(iii), (d)-(i)

70819155316, (@r(i), (b)-(iv), (c)-(iii), (d)-(i)
20819155317, @), B)-(v), (©)-(i), (d)-(ii)

70819155318, (@)-(i1), (b)-(1), (¢)-(iv), (d)-(iii)

Question Number : 38 Question Id : 70819116721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The incorrect statement among, the following is :
Options :

J o -
70819155319 VOGS0, is a reducing agent

70819155320. RuQ, is an oxidizing agent

70819155321. Cry05 is an amphoteric oxide

Red colour of ruby is due to the presence of Co3t
70819155322. i

Question Number : 38 Question Id : 70819116721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A1 el Tl v (e el
Options :



Ti o 3:}'1 .
70819155319, Y50 ™ (Reqinisdl ©.

20819155320, RuOs ICEREEERIRCE

Cr,0, 24 Gopell 2isuds 8.
70819155321, 23 18 3

WLl A P (Red colour of ruby) 1 Co?* l ¢lsrdli srEL®.
70819155322. ,

Question Number : 39 Question Id : 70819116722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct order of the following elements with respect to their density ?
Options :

70819155323, <f <Fe<Co<Cu<Zn

70819155324, Zn < Cr < Fe < Co < Cu

70819155325, Zn <Cu<Co<Fe<Cr

70819155326. Cr < Zn < Co < Cu < Fe

Question Number : 39 Question Id : 70819116722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Al 244 el del sedi-l HEeii (2UAR) (with respect) ML 53 2 © )

Options :

70819155323, T <Fe<Co<Cu<Zn



70819155324, Zn < Cr < Fe < Co < Cu

70819155325, Zn <Cu<Co <Fe<Cr

70819155326, Cr< Zn < Co <Cu < Fe

Question Number : 40 Question Id : 70819116723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated magnetic moments (spin only value) for species [FeCly |, [Co(Co04)3 ]

and ['~.1nDi'_ respectively are :

Options :

70819155327, +90, 0 and 1.73 BM

70819155328, 9-92, 4.90 and 0 BM

70819155329, 9-82, 0 and 0 BM

70819155330, 490, 0 and 2.83 BM

Question Number : 40 Question Id : 70819116723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

*7 2 MnOF wdlalleil W ateiadl s2a Joidl wsHenil (s5a il

[FeCl, I, [Co(Cy04)3]
W) 254 AL
Options :

70819155327, 90, 0 11 1.73 BM



70819155328, 2-92, 4.90 i1 0 BM

70819155329, 282 0 #1110 BM

70819155330, 4:90, 0 24+ 2.83 BM

Question Number : 41 Question Id : 70819116724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : The value of the parameter “Biochemical Oxygen Demand (BOD)" is
important for survival of aquatic life.

Statement Il : The optimum value of BOD is 6.5 ppm.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819155331, Poth Statement I and Statement II are true

70819155332, Both Statement | and Statement Il are false

70819155333, Statement 1 is true but Statement 1l is false

70819155334 Statement | is false but Statement 1l is true

Question Number : 41 Question Id : 70819116724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



12 o (el 20l ©
(R 1 MES (parameter) o qed “svel AlA(BLs 2AU[Ssv sr3(<did (BOD)” 24 svtididis] e
estedl 2vieL WL Heead 9.
(441 11 : BOD «{l 2A45ed™ (d2a4) (optimum) 34 6.5 ppm 9,
Guzdl [EaudiAl Heel, AR i [Esedpisl W Gz s s
Options :
0810155331 o, [uim T2 (s 11 2 9.

et A S wit. _‘_‘d_ -t .
70819155332, T CEER I EUCEIEN | RRIPR)

1k m a1 [Fis - =
70819155333, VAR 1 RE S NeL [ 1 ©.

COIEE RUPRCRTTHCLTEN | EORES
70819155334,

Question Number : 42 Question Id : 70819116725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diazonium salt of which of the following compounds will form a coloured dye on reaction
with -Naphthol in NaOH ?

70819155335.
: - i:‘.HEMH2
70819155336.

Options :



e

Question Number : 42 Question Id : 70819116725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819155337.

70819155338.

A3 2dariEl s Al AL S AEH 2R NaOH Hidl g--rld 28 wba s34 04 dovs
(Coloured dye) “i-il42l 7

Options :
@/NH2
70819155335.
CHEI“«]H2
70819155336. @/
@/[\'1 I—CHj3

70819155337.



CHj,

70819155338.

Question Number : 43 Question Id : 70819116726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the [ nllowing cnmpnunds is non-aromatic 7

]

70819155339, O

Options :

70819155340.

=]

®
70819155341. :
70819155342. I I I

Question Number : 43 Question Id : 70819116726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Al2L 2L HHsrAHiE] 54 25 AlA-2EEES D 7



Options :

70819155339, O

70819155340.

®

®
70819155341. :
70819155342. I I I

Question Number : 44 Question Id : 70819116727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the [ ollf}wing carlmn}-'l compounds cannol be prc-parc-d b}-‘ addition of water
on an alkyne in the presence of HgSO, and H,50, ?

Options :
i
70819155343, CHa~C—H
O

i
—C—CH,CH
70819155344, <113~ € 2113



i

2
CHy=CH;=E<H

70819155345.

70819155346.

Question Number : 44 Question Id : 70819116727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HgSO, 2t H,S0, -l ¢lsrdlui 2uesidui well Garausdl Ala-umiddl s21 215 sieti-ld detlsr- el
sl 4l ?

Options :

O
|

70819155343, CHa~ C—H

O

[l
—c—CH,CH
70819155344, <113~ C 2=113

O

|
70819155345.

O

|
CH;—-CH,-C—H
70819155346. E =

Question Number : 45 Question Id : 70819116728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The correct order of the following compounds showing increasing tendency towards
nucleophilic substitution reaction is :

b o 1 Cl
NO, NO, NO,
@ (i) (iii) (iv)
Options :
70819155347, (V) < (i) < (i) < (@

70819155348, (Iv) < (1) < (iif) < (i)
70819155349, (@) < (i) < (iii) < (iv)
(iv) < (i) < (if) < (iii)

70819155350.

Question Number : 45 Question Id : 70819116728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



{12 2 Wdlsr Al Segigell Fra- WA dagl uedl aqel saiediAl L 54 2L

Cl Cl cl
NO; NO, NO,

(1) (i) (iii) (iv)

Options :

Cl

70819155347, (V) < (i) < (i) < ()

70819155348, (V) < (1) < (i) < (ii)
70819155349, (1) < (1) < (iif) < (iv)

20819155350, V) < (1) < (i) < (i)

Question Number : 46 Question Id : 70819116729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

O

Which of the following reagent is suitable for the preparation of the product in the above
reaction 7



Options :

NaBH,
70819155351.

o@
70819155352, 2~ NH;/GH50ONa

70819155353, T/ Ha

70819155354, ed PHCly

Question Number : 46 Question Id : 70819116729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

0O

Guasdl ulaiui Alusy otnta Hie 12 2uidamisl s4ulbys o 9 7
Options :

NaBH,
70819155351.

e @
70819155352, [\H2 ~NH,/CH5;0Na

70819155353, T/ Ha

70819155354, ed PHCly



Question Number : 47 Question Id : 70819116730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of reagents used for converting nitrobenzene into
m-dibromobenzene ?

NO;, Br
- o= - -
Br
Options :
Sn/HCI / KBr / Br, / H*
- o - o
70819155355.
NaNO, / HCl / KBr / H*
- - - :
70819155356.
Sn/HCI / Br, / NaNO, / NaBr
- - - -
70819155357.
Br,/Fe F/Snﬂ 1(_1"/ NaNO,/HClI ;/CuBr,fHBr e
70819155358.

Question Number : 47 Question Id : 70819116730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Al A (ot ML - St e Lzt 3uiaz 53 e 59 WiEUst AL Aol Gyl szl 204 © 7

\]CJE Br
- o . -
Br
Options :
Sn/HCI / KBr / Br, / Ht
o r - r o
70819155355.
NaNO; / HCl / KBr / H
: - - r
70819155356.
Sn/HCI / "‘\J&NDE NaBr
2 —_— -
70819155357.
Br,/Fe F/Snﬂ 1(_1’/ NaNO,/HCI ;/CuBr;’HBr e
70819155358.

Question Number : 48 Question Id : 70819116731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In polymer Buna-S : °S” stands for :
Options :

70819155359, >ulphur

70819155360, otrength



70819155361, Otyrene

Sulphnnatinn
70819155362.

Question Number : 48 Question Id : 70819116731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

041G HEAsHL ‘S Al 244

Options :
70819155359, &2

A2 (strength)
70819155360.

70819155361, 2Ll

e
70819155362, exidl

Question Number : 49 Question Id : 70819116732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I and List - I1.

List - 1 List - 11
i)  Antifertility drug
ii) Pernicious anaemia

(a) Valium

(b) Morphine

(c) Norethindrone
(d) Vitamin B,

Options :

iii) Analgesic
iv) Tranquilizer



70819155363, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
70819155364, (@)-(1v), (b)-(iii), (c)-(ii), (d)-(i)
70819155365, (@)-(1v), (b)-(iii), (c)-(i), (d)-(ii)
70819155366, @) (H), (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 49 Question Id : 70819116732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

el - 1 e Al - 00 A el

el - 1 WAl - 11
(a) dAedlun 1) aeHzEs @i
(b) gl (i) ecds #4021 (Pernicious anaemia)
(c) ~AlziEgid (iii) AE-tler
(d) [Eenlld By, (iv) Maliasl

Options :
70819155363, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

70819155364, (@)-(1v), (b)-(iii), (c)-(ii), (d)-(i)
70819155365, (@), (b)-(id), (c)-(1), (d)-(i1)

70819155366, (@)-(1), (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 50 Question Id : 70819116733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Match List - 1 and List - 1L
List -1 List - 11

0
I
(a) R—C—-Cl -R—CHO (i  Br,/NaOH

()  R—CH,~COOH —R—CH-COOH (i) H,/Pd-BaSO,
cl

O
Il

(c) R—C—NH,—>R-NH, (1) Zn(Hg)/Conc. HCI
O
I

(d) R—C—CHy —»R—CHy—CHjy (iv) Cl,/Red P, H,0

Choose the correct answer from the options given below :

Options :
20819155367, (@)-(ii), (B)(iv), ()-(1), (d)-(ii)

70819155368, (@) (i), (b)-(1), (c)~(iv), (d)-(ii)
70819155369, @)(H), (b)-(1), (c)-(iv), (d)-(iii)
70819155370, @F(H), (b)-(iv), (c)-(1), (d)-(iii)

Question Number : 50 Question Id : 70819116733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



el - 12 el - 0 A L
wedl - 1
0
(a) R—{g—Cl —R—CHO

() R—CHy—COOH — R—(lil [— COOH
Cl

O
Il

() R—-C—NH,—~R-NH,
O
Il

(d)  R-C—CH3 - R—-CH,—CH,

12 24041 [Asediuisl 1l sraiet Yu4E 530,
Options :

70819155367, (@) (i), (b)-(iv), (c)-(1), (d)-(ii)
70819155368, (@)-(ii), (b)-(1), (¢)-(iv), (d)-(i1)
70819155369, (@)-(i), (P)-(0), (0)-(iv), (d)-(iii)

20819155370, @)(), (B)-(v), (c)-(i), (d)-(iii)

Wl - 1

(i Br,/NaOH

(i) H,/Pd-BaSO,

(i) Zn(Hg)/xig HCl

(iv) Cl,/did P, H,0

Chemistry Section B



Section Id : 708191655

Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191935
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819116734 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The formula of a gaseous hydrocarbon which requires 6 times of its own volume of Dz for
complete oxidation and produces 4 times its own volume of CO, is C H . The value of y is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 51 Question Id : 70819116734 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

D5 Uy GlEgIsIoi 5 e/l HWyel 2USAUA 9ol ML idldl 58 S3dl 6 281 a4z O, «l er3dl 8 21
RS ARl Geunt Udl CO, Hidlrl 52l 4918, 55 4 D YA CH, 9. diy 4y

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819116735 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The volume occupied by 4.75 g of acetylene gas at 50°C and 740 mmHg pressure is
L __ L. (Rounded off to the nearest integer)

[Given R=0.0826 L atm K~ mol ~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819116735 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

50°C 214 740 mmHg g1l 4.75 g 21RdlA iy < isiq 55 L 9. (s yelsul
2G5 ii5)

[2U4d R =0.0826 L atm K~! mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 53 Question Id : 70819116736 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Assuming ideal behaviour, the magnitude of log K for the following reaction at 25°C is
xx10~ 1. The value of x is . (Integer answer)

JHC = CHEE}: Cgl Iﬁlﬁf}
[Given : A/G°(HC=CH)= —2.04 X 10°] mol™1; AG(CgHg)= —1.24 % 10° ] mol™1;
R=8314 ] K~1 mol 1] "
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819116736 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2520 dcdijs il dl, 25°C uz 12 2udd WAL log KAl WAL x < 10 71 9. dl v f e
9. (YelsHl srol)

[#dd - A /G (HC=CH)= 2.04 x10°] mol—1; AG(CeHy) = —1.24 x 10° ] mol —1;
R=8.314 T K1 mol l] '-

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819116737 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CgHg, freezes at 5.5°C. The temperature at which a solution of 10 g of C;H,;, in 200 g of C H,
freeze is __"C. (The molal freezing point depression constant of C H; is

5.12°C/m.)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819116737 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5.5°C 42 C,H, slRel i 8. dl C,H,, 1 10 g 1200 g CH Hiortdg el °C drit
Uz 838l (Gleodldl Hidd 5120005 a4 2a0is 5.12°C/m 9)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819116738 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The solubility product of P"bI2 is8.0x107°%. The solubility of lead iodide in 0.1 molar solution
of lead nitrate is x x 10~ ® mol/L. The value of x is . (Rounded off to the nearest
integer)

[Given \/T = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819116738 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Pbl, -l gletdl 2Busz 8.0 1077 9. dl 0.1 Hidz ds e glaemi ds 2uEisds-dl gledel
xx 1076 mol/L 9. dl x 4 4e 9. (A5 YelisHi AG-¢ 2115 531)

[2U44 2 = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819116739 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The magnitude of the change in oxidising power of the MnO}/Mn =t couple is xx 1071V,

if the H* concentration is decreased from 1 M to 10~ 4 M at 25°C. (Assume concentration of

MnO, and Mn?" to be same on change in H" concentration). The value of x is

(Rounded off to the nearest integer)
I 2303 RT
|:{_%Ivnn - ¥ = U_[EU]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819116739 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25°C Wz s H* 2l digal 1M 2l 1074 M Wi 2 it dl MO/ Mn?* st 2Aifs818240

Wi (lsd) HigsrAlHeny <1074V e, (adldis H Al Higdl 4i 30454 4dl MnO,; 244 Mn2*

Al Migrdl uHA 2w D) dl v o Y B, (sl yeilsul 21G-s 2ils 531)

|: ..o 2303RT
AN ————

= [].[]59]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 57 Question Id : 70819116740 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sucrose hydrolyses in acid solution into glucose and fructose following first order rate law
with a half-life of 3.33 h at 25°C. After 9 h, the fraction of sucrose remaining is . The value

1
of Ingm[T] is %1072, (Rounded off to the nearest integer)

[Assume : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 57 Question Id : 70819116740 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25°C W2 3.33 h 2Ael-2{1v i, Yslob DAL glaeiil 995t 2 520840 srn[Eotsr+ WH © o UUH
§ - e s P
59 AL [ 21443 9. 9 h ugl, Yala-l 2 fousl 2¢ 9. dl logy, % | e %10~ E
!

9. (A5l YeusHi 216G~ »iis) (4l dl © In 10=2.303, In 2=0.693)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 58 Question Id : 70819116741 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Among the following allotropic forms of sulphur, the number of allotropic forms, which will
show paramagnetismis

(A) a-sulphur (B) p-sulphur (C) Sy-form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819116741 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AL UYL HeszAL oAl 23Ul sl 5 o ol MERIA 51 O o Rzl v
W,
(A) e (B) B-uest (C) Sy-+a3y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819116742 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The total number of amines among, the foIInwing which can be S}-'nthesizc-d h}-‘ Gabriel
synthesis is

CH3z
CHj

CHy—NH) NH
© ©/ D) ©/

Response Type : Numeric

CH—CHp—NH» (B) CH,CH,NH,

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819116742 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ao{ld dreuel iRl 9P ald 70 wstd da 12 2uia 2ud-i-l 5o dea o,

CH3« ~1 e
CH3>(“H CHy>—NH» (B) CH,CH,NH,

CHy;—NH; NH>
©) ©/ (D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 60 Question Id : 70819116743 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durin%c:;
purification. Amount of acetanilide obtained after purification (in g) is ___ - | et

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819116743 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g 2AlAclAAL 2yl w1 udq o ARl S or1d 9. gy[Fasel 523204 10% [lusrdl 52wy
9. YlEasel ous Hadl siid-dladsdl szl (gu) . x10729,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001

Mathematics Section A

Section Id : 708191656
Section Number : 5



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191936
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819116744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, beR. If the mirror image of the point P(a, 6, 9) with respect to the line

= = 9 is (20, b, —a—9), then |a+Db) is equal to:

|
5

Options :
70819155381, 84

70819155382, 56

70819155383, 58

70819155384, 20

Question Number : 61 Question Id : 70819116744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S 3 P z
gRi5a, beR. ad ol —— = 5

l iy P e - -
° | 248 [2515 P(a, 6,9) wlaleiet (20, b, —a—9)

Lo

€4, dl la+b| =



Options :
70819155381, 54

70819155382, 56

70819155383, 58

70819155384, 20

Question Number : 62 Question Id : 70819116745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be in arithmetic progression. Let the centroid of the triangle with vertices

a,c), (2, b) and (a, b) be 1—[] 5 . If @, B are the roots of the equation axZ+bx+1=0, then
3 3 1

¥

the value of a2+ B2—ap is :

Options :
69
70819155385, 220
&
70819155386, 220
69
70819155387, 220
By |
256

70819155388.



Question Number : 62 Question Id : 70819116745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i B S 1 B W LT
BRLS a, b, c WHidr Aelld 9. arls (a, o), (2, b) 24 (a, b) R0 Bsterd wedseg (T iJ .

3
rd WAls20L ax2+ b+ 1=0 i odlsr o, B €14, Al o2 +B2—af 44 ©.
Options :

69
70819155385, 220
71
70819155386, 22
69
70819155387 220
Byl
70819155388,

Question Number : 63 Question Id : 70819116746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If Pis a point on the parabola Lp‘=.1'2+4 which is closest to the straight line y=4x —1, then

the co-ordinates of P are :
Options :

(3, 13)
70819155389.

70819155390. (2 8)



-2
70819155391. {—%#

70819155392, (1r 2)

Question Number : 63 Question Id : 70819116746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

rl Yol y=4x — 1 Al A2l A5 2u8g et y=x2+4 i g P e, AP Al 9,
Options :

(3, 13)
70819155389.

70819155390. (2 8)

70819155391.

70819155392. (L 5)

Question Number : 64 Question Id : 70819116747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For which of the following curves, the line x ﬁy = 24/3 is the tangent at the point

{3\ﬁi 1]
—, 1>
L 2 2
Options :

+
70819155393, y



x2 + Ql.rz: 0

70819155394
) 1 x
S
70819155395, 6v3
2x2—-18y?=9
70819155396

Question Number : 64 Question Id : 70819116747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

33 1

WAL x+ 3y = 243 B Al Us] s asHl g [ — ;] APLAAL 2435 0 ]

Options :

70819155393.

x2 + Qyz =0
70819155394,

1

2_ —x

V=7
70819155395. V3

2y~ 181;2 =0
70819155396.

Question Number : 65 Question Id : 70819116748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



3
The value of the integral, j[xz 2x —2|dx, where [x] denotes the greatest integer less than
1

or equal to x, is :

Options :

70819155397, °

70819155398,
70819155399, V2 -3 -1
70819155400. V2 -3 +1

Question Number : 65 Question Id : 70819116748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3

[l -2 20e e 9, e [x] x'd el el et yols 5 B,
Olptions:
70819155397 2
70819155398, ~ 4
70819155399, N2 mll b
V2 -3 +1

70819155400.



Question Number : 66 Question Id : 70819116749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The negation of the statement
~pa(pvq)is:
Options :
70819155401, ~ P4

70819155402, ~ P "

70819155403, © 1

70819155404, P74

Question Number : 66 Question Id : 70819116749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[_E{i{L-[ oy p '»[ p A% L] _] '} Pl‘;lil e @
Options :
70819155401, ~ P ¥ 4

70819155402, ~ F

70819155403, ¢~ 1

70819155404, P~ 4

Question Number : 67 Question Id : 70819116750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let A and B be 3 X3 real matrices such that A is symmetric matrix and B is skew-symmetric
matrix. Then the system of linear equations 1[:5';2E!-:’1 B2A?) X=0, where X is a 3 1 column
matrix of unknnwn variables and O is a 3 X1 null matrix, has :

Options :

70819155405, 1o solution

70819155406, a unique solution

70819155407, ©xactly two solutions

70819155408. infinitely many solutions

Question Number : 67 Question Id : 70819116750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

RS A 2 B 2 DAL 3 % 3 Al Aielfds 2ellsl O 5 sl A Al Blos 2 B (S Al 9. dlyim
Alsel deld (A2B2 - B2A2) X=0, 4 _

(sl X 24 25U UL 3 x 1 Al 2 3B 244 O 21 3x 1 AL 4 2G5 8)

Options :

70819155405, G5e ¢4l

70819155406, A4 B34 ©
70819155407, “XI0R 6L Gl 8

70819155408, 2v4 B5AL ©



Question Number : 68 Question Id : 70819116751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable function defined on [0, 2] such that f'(x)=f"(2—x) for all
x e (0,2), f(0)=1 and f(2) =e”. Then the value of jf(x} dxis:
L]

Options :

gt

(=

70819155409.

2
70819155410, 1 7€

2x
70819155411, 21 +¢€%)

e
70819155412, 21 —¢€%)

Question Number : 68 Question Id : 70819116751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AR f(x) 210, 2] vt cdrvild @i Esaddl Fay 95 edll ucis x e (0, 2) WL f/(x)=f"(2—x),

fO =123 f2)=c2 et Al [f) dv 4y B,

0
Options :

o]
70819155409, 1 €

2
70819155410, 1 7€

2x
70819155411, 21 +¢€%)



R
70819155412, 21— €7

Question Number : 69 Question Id : 70819116752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function defined on R such that f(0)=1, f'(0)=2 and

1f@ @

fi(x)#0forallx e R. If o £ = (0, for all x € R, then the value of f(1) lies in the
b x

interval :
Options :

©, 3)
70819155413.

3 G
70819155414. 20

70819155415. (6 9)

(9, 12)
70819155416.

Question Number : 69 Question Id : 70819116752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

UL f 2l R 4R cdvolBid 21g B-[Esaddld @Ed 9 5 odl f0)=1, f(0)=2 21 Ucds x = R 4L

| fx)y  fx)

F(x) 20 8. s Uls xe RUE |7,
i fo fw

— 0l ALf(D)dde 2iduddi e 9.

Options :

©, 3)
70819155413.



70819155414. (3 6)

70819155415. (6. 9)

(9, 12)
70819155416.

Question Number : 70 Question Id : 70819116753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y= ax>+bx+c, xe R, passes through the point (1, 2) and the tangent line to this
curve at origin is y =x, then the possible values of a, b, c are :

Options :

70819155417. @=1, b=1,¢c=0

70819155418, @=1 b=0, c=1

70819155419, @= ~ L b=1,¢c=1

, b=

%]

I
B3| =
13 | =

70819155420.

Question Number : 70 Question Id : 70819116753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
d 45 y=axZ+bx+c, x = R (645 (1, 2) wizll uui w244 Ghildig 21 20 as- 2uals vy =x €14,
dla, b cdlastBudl 08,
Options :
70819155417, @=1, b=1,c=0



70819155418, 2=1, b=0, c=1

70819155419, <~

70819155420.

Question Number : 71 Question Id : 70819116754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f n=21is a positive integer, then the sum of the series

i T ] oL o o o

Options :

n(n —1)(2n+ 1)
70819155421, 6

.n{n +1) (2n + 1)
70819155422 6

.11(211 +1)(3n +1)
70819155423 6

n(n 'ljz(n + 2)

12

70819155424,

Question Number : 71 Question Id : 70819116754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



W n=2 W ad yels €, di Al "C,+2(2C, + I, + 10, 4+ °Cy ) L Ureual
.

Options :
n(n —1)(2n+1)

70819155421. b

'n(n +1) (2n + 1)
6

70819155422.

.11{211 +1)(3n +1)

70819155423 6

n(n 1}2(11 +2)
12

70819155424.

Question Number : 72 Question Id : 70819116755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the system of linear equations :

x—2y=1, x—y+hkz=-2, ky+4z=6, ke R,

consider the following statements :

(A) The system has unique solution if k=2, k= —2.

(B) The system has unique solution if k = —2.

(C) The system has unique solution if k=2.

(D) The system has no-solution if k=2.

(E) The system has infinite number of solutions if k= —2.
Which of the following statements are correct 7

Options :



70819155425. (A) and (D) only

70819155426, (&) and (E) only

(C) and (D) only
70819155427. ,

70819155428. (B) and (E) only

Question Number : 72 Question Id : 70819116755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Yo wllszer deld x —2y=1, x—y+kz= -2 ky+4z=6, ke R, W R Barl 244 9 ¢
(A) s k=2, k= —2 dl deld 2 G3q ©.
(B) stk = —2dl deldd 2 Biet ©.
(C)  ak=2dl el 2t Gie O,
(D) stk=2dl el Gia 2.
(E)  edkz—2 dl delad vy Gidl 9.
{1201 gl s (el Ued 9 7
Options :
70819155425, W (A) 24 (D)

70819155426, WA (A) 24 (E)

70819155427, WA (C) (D)

70819155428, WA (B) 2 (E)



Question Number : 73 Question Id : 70819116756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f:R — R be defined as
55x, ifx< -5
f(x) = {2x3— 322 120z, if ~5< x<4
2x3— 3x2— 36x — 336, if x >4,

Let A = {x = R : fis increasing}. Then A is equal to :

Options :

70819155429, (—*» =5) U (4, =)

70819155430, (3, —4) v (4, =)

70819155431, (— % —5) W (—4, =)

70819155432, (2 *)

Question Number : 73 Question Id : 70819116756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AR [ R — R A2 08l e[ .

55x, mMx< —5
f(x) = {22~ 32%- 120, M —5< x<4
2x3~ 322~ 36x — 336, x> 4.

sl A=lre R:folqad [EY 9), dlA=



Options :

70819155429 (— *, —5) W (4, =)

70819155430, (—3 —4) v (4, =)

70819155431, (— ©, =3 U (4, =)

70819155432, (2 *)

Question Number : 74 Question Id : 70819116757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

: 1 _1 A3
A pf}ssihlo value of tan( —sin : —] is
- 8

%,

Options :

70819155433, V7

70819155434.

70819155435.

70819155436, 2¥2 — 1

Question Number : 74 Question Id : 70819116757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



tm‘u(%ain 1%]{1 3154 [(Bua S :

.
Options :
1
70819155433. "'{F_
1
2442
70819155434. '\E
70819155435. \E .

70819155436, 2¥2 — 1

Question Number : 75 Question Id : 70819116758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The angle of elevation of a jet plane from a point A on the ground is 6(°. After a flight of

20 seconds at the speed of 432 km/hour, the angle of elevation changes to 30°. If the jet
plane is flying at a constant height, then its height is :

Options :
70819155437, 36003 m

70819155438, 2003 m

. 3
70819155439, VNS m



g
70819155440, 1200¥3 m

Question Number : 75 Question Id : 70819116758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Atk 215 [0 Al sve [Fondl Geadasior60° 8. 432 (Bl /sans -l 260 20 dssl Got wsl

Geilasiol cisddn 30° A 8. ot 22 [ 2 GRudwl God dr, dladl Gd - 8,
Options :

70819155437, 360033 et
70819155438, 240043 3l

70819155439, 13[]0\5 Ylez

70819155440, 12003 ez

Question Number : 76 Question Id : 70819116759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The vector equation of the plane passing through the intersection of the planes
;(; 5 } 'S ;:] =1 and ;(; E 2}] — — 2, and the point (1, 0, 2) is :
Options :

;(3; I?} | 3@]:7
70819155441.

:(f I ?Lr' | 3};]:;’
70819155442.



il e ey

=1

W~

70819155443.

{?|?}|3E]=

=1

W~

70819155444.

Question Number : 76 Question Id : 70819116759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

el 1o\ +  + k) =1 @ roli —27) = — 2 udeuial qau Fig (1, 0, 2) witfl v
udad e wllse 9.
Options :

r\3i+7+3k)=7
70819155441.

r\i+7j+3k)=7
70819155442

r-li-7j+ak)=2
70819155443, 3

e-liv7je3k)=2
70819155444, 3

Question Number : 77 Question Id : 70819116760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



For the statements p and g, consider the following compound statements :
(@ (~gqr(p—q)—=-~p
b) (pvg~r~p)—q

Then which of the following statements is correct ?
Options :
70819155445 (a) is a tautology but not (b).

70819155446, (P) is a tautology but not (a).

70819155447, @) and (b) both are tautologies.

70819155445, @ and (b) both are not tautologies.

Question Number : 77 Question Id : 70819116760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[GauA p 2t g H1e Al s [Handl 204 ©
(a) (~ga(p—>q) —~p

(b) (pvgA~p)—q

Al Al sl 5y Hau 1 9 )
Options :
20819155445, (@) [Aed Ued © i (b) el

70819155446, () [Red et © Wy (a) el

70819155447, () 2t (b) it [Aed 1ex ©.

20819155448, (3) 2t (b) el (e 2ex -ell.



Question Number : 78 Question Id : 70819116761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

d.
If a curve y=f(x) passes through the point (1, 2) and satisfies Y Yy = bx*, then for
2 62
what value of b, Jf{x)dx = ? ?
1
Options :
10
70819155449.
31
5
70819155450.

70819155451, °

70819155452.

Question Number : 78 Question Id : 70819116761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

el s y=/f(x) 21 [65 (1, 2) iddl wuR 2 24 xf by = bxt o HAEIA 52, ol b AL 541 1L

-

62
Jf(XJdI=? Uy )
1

Options :



70819155449.

70819155450.

70819155451, 2

70819155452.

Question Number : 79 Question Id : 70819116762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The probability that two randomly selected subsets of the set {1, 2, 3, 4, 5} have exactly two
elements in their intersecton, is :

Options :
65
70819155453, 2
65
a8

70819155454, =

-2

70819155455.

"34| w

70819155456.



Question Number : 79 Question Id : 70819116762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ALL {1, 2, 3, 4, 5) AL 48 dld wie 539 o Guorelldl De21erdl (RIeR oL o desL ¢l ardl deuanl
6.
Options :

jm

]

70819155453, 2

70819155454, =

70819155455. =~

3
70819155456, 2

Question Number : 80 Question Id : 70819116763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The area of the region : R = {(x, y) : 522 = y = 222+ 9} is :
Options :
3 squ its
70819155457, V3 Squareunits

70819155458. 9\5 square units

20819155459, 1133 square units



12 square units
70819155460. l"ﬁ a

Question Number : 80 Question Id : 70819116763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WEAR = {(x, y) : 522 = y < 222 +9) < &g

Options :
70819155457, 6+/3 AL 54

|"_ ;-,_“ i,
70819155458, 9N3 i B

70819155459, 1143 3l 2153

. gl a-\ - B
20819155460, 1243 3L 153
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Question Number : 81 Question Id : 70819116764 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the variance of 10 natural numbers 1, 1, 1, ..., 1, k is less than 10, then the maximum
possible value of k is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 81 Question Id : 70819116764 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

w10 Wiglas vl 1, 1,1, ., 1, k o @200 10 s2ai248 i, dik Al s wedu Bt 8,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819116765 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a point P be such that its distance from the point (5, 0) is thrice the distance of P from the
point (—5, 0). If the locus of the point P is a circle of radius r, then 4rlis equal to __

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5t05.001

Question Number : 82 Question Id : 70819116765 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

P 2is wid [0 © 5 evd, (645 (5, 0) dl @iz, 24 P LG (-5, 0) 4l 2iaz sl 2w ae] 9. « g P -l
[S1g w2 r Bscucuy) ada i, di 4=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819116766 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the triangle formed by the positive x-axis, the normal and the tangent to the
circle (x —2)*+ (y— 3)2=25 at the point (5, 7) is A, then 24 A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819116766 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

el Gl x-2H AL 4d (x—2)2+ (y—23)2=25 L (5, 7) [Gig2d 2iltider 1 2uzisel ol Bisield
st A S, dl 24A =

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 84 Question Id : 70819116767 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ﬁ.]il | (1| fﬁ]zl

24

Let;'=ﬂ.1f{ e
(1— i) (1+ i)

= k,and n=[|k|] be the greatest integral part

n+5 2 n+5
of |k|. Then Z’(; + 5)" 2(; +5) isequalto .
F 5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819116767 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



(e B (14 iB)

QRS :'=.\."_1 &, o — | -

(1+ i)

— & @A n=]|k|] 2|k -l qedd yells euol
(1- i)

5 : .n*ﬁ 5 n+5
i, dl 2(.; - 5) Zh(j +5) =
= F o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 85 Question Id : 70819116768 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The students 54, S,, ...., Sy are to be divided into 3 groups A, B and C such that each group
has at least one student and the group C has at most 3 students. Then the total number of
possibilities of forming such groups is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819116768 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



[Qaneil4i S, S, ..., Sy e gL A, B 2L C i 2l {ld [Aouyd sz 204 8, 5 erddl £35 sg il
iRl 2L 2 [Eael G 2 od C wiagaiag 3 (el €, oz o vl sl 1
S,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819116769 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
n\‘_ Cps Em=2r=1]
For integers n and r, let =i :
r 0, otherwise

The maximum value of k for which the sum

E(10)( 15 ) K212 13
; i Nk ’.+:'=Zﬂ R P exists, is equal to :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 86 Question Id : 70819116769 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



g

8. ol ¥reml

T mMnzr=0 .
r

HIRLS "-EI\LELL!:L n i r W (

ot
(10
;[;]L ] ( ](ﬁll J-}M@mqmm dell kAl Hegetm Buat . ®.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

; el

Question Number : 87 Question Id : 70819116770 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ifata=1,b+p=2and af(x) 4 m‘_,f'(iJ = bx 4 E x £ 0, then the value of the expression
X

X
flx) ,_rH
X/ is

X +—
.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819116770 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

R . " ) flx) 4 ._r[—_J _
s ata=1, b+B=2 2 af(x) A rx_f'[—J — bx+ =, x 2 0, dl 2Al61eulsa */ 4
g ;

X 1
X +—
x
Y 9,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
510 5.001
Question Number : 88 Question Id : 70819116771 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let A be an integer. If the shortest distance between the lines x —A=2y—1= —2z and
=
' g )
x=y+2h=z—Ais ——, thenthe valueof |Alis
242

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819116771 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



=

=

- -

. . : - : i’ :
WPALY —A=2y—1=—2z A x=y+2h =z — \ 4R @YdH 2R o5 €14,

ARLS A yells 9.

1T PRV T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 89 Question Id : 70819116772 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6
The sum of first four terms of a geometric progression (G.P.) is 12 and the sum of their

r

respective reciprocals is E [f the product of first three terms of the G.P. is 1, and the third

term is o, then 2o is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 89 Question Id : 70819116772 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



= s g o - A ] .65 . . g gk
HHL Rl el UM 212 YEIAL MRl P D d¥AL 3L AL 18 B, al WMl Hell-l

M AL YEAL QRIS T 2 olley UE @ €4, dl 2a=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819116773 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

v

The number of the real roots of the equation (x + 1]3+ x—5|= T is ;
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 90 Question Id : 70819116773 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

" T S - ] g

wllswel (x + 12+ |x—5|= — i ardlds ollmedl 2ivr 8.

4
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001



